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Before answering the qu
have been supplied the codvct and complete question paper. No
complaint in this regard, will be esitertained after examination.

Note :

Question No. 1iis conipulsory. Attempt remaining
four questions, selecting one question from each
unit. All questions carry equal marks.

47 Solve the following :
(a) Define infinite set with two examples.

(b) In how many ways 5 sportsmen be selected from a
group of 10 ? '

(c) Find I8th term of AP ; -1, 511,17

(d) Solve for x : logyx =4/3

(e) If a®+8%=7ab. show that 2 log (a + b)

2 Fﬂg3+]ugn-1 logh
(f) Integrate : dx/(x + D(x+2)!2

585034 00 -(P-3){Q-9)(22) P.T.O.

m::tir@mm_a‘idnh’fc should ensure that they

(g) Differentiate (x)'“®* with respect to x.
(h) Solve the following system of equation :
x4+5y=7 3x+15y =121
UNIT - |
~2. (a) Prove that: (A and B) = A1 U B!
(b} Prove that AU (Band C) = (AUB)and (A U Q)

.3 (a) A college awarded 38 medals in football, 15 in

basketball and 20 in cricket. If these medals went
to a total of 58 sportsmen and only 3 sportsmen
got medals in all the three sports, how many

sportsmen received medals in exactly two of the
three sports ? https://www.mdustudy.com

(b) I (x/3+1,y-2/3)=(5/3,1/3) find the values of x
and y.

UNIT - 11

4. Solve for x:

(@) I logy x +logy x +log;g x=21/4.
(b) log(10x+5)—log(x+4)= log2.

6 4a) Divide 20 into four parts which are in AP and

such that the product of 15t and 4% is to product of
the 20d and 3t in the ratio of 2 : 3.

by If a, b, ¢ are in AP

prove  that
al+db? - 3b(a2 + 62].
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UNIT — 1l

6. llow many different words can be formed from the
letters of the word 'COMBINE' so that :

(i) vowels always remain together ?
(ii) no two vowels are together ?
(111} vowels may occupy odd places 7

7. The coefficients of three consecutive terms of (1 + x)=+3
are in the ratio 5: 10 : 14. Find the value of n ?

UNIT—I@®

¢ Prove that dek i Q§‘Z§
L}. rove tha E'ermmar{g 3

&Q

N

b+c a a
b c+a b = 4abc
¢ c a+b

5
9. If log (xz +y2)! :Ian_l(y!x), show that
dy/dx = x+y/x-y.
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